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CERTIFICATE IN TELECENTRE/VILLAGE 
KNOWLEDGE CENTRE MANAGEMENT 

(CTVM) 

Term-End Examination 

June, 2014 

OXE-023 : CONTENT AND SERVICES IN 
TELECENTRE 

OXE-024 : PROMOTING YOUR TELECENTRE 

Time : 3 hours 	 Maximum Marks : 100 

Note : 

(i) Attempt all sections A, B and C as per the 
directions given in each section. 

(ii) Marks for each section are indicated against it. 

(iii) Answers should be brief and to the point. 

SECTION A 

(CHOOSE THE BEST ANSWER) 	10x2=20 
(i) Answer all questions. 

(ii) Each question carries 2 marks. 

1. Which among the following is not a search 
engine ? 

(a) Yahoo 

(b) Google 

(c) Mamma 

(d) Modem 
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2. Which among the following is not an 
e-Governance Service ? 

(a) On-line tax filing 

(b) Disaster Management 

(c) Air Ticketing 

(d) Property Registration 

3. Telecentre can link local business to the market 
through Internet. 

(a) True 

(b) False 

4. Which among the following is not the use of a 
telecentre ? 

(a) Viewing films 

(b) Providing livelihood information 

(c) Contacting people in emergencies 

(d) Skill development 

5. Which among the following is not an external 
source of information ? 

(a) Internet 

(b) Local market 

(c) Mass media 

(d) Monographs 
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6. Choose the static information from the 
following : 

(a) Crop price 

(b) Examination results 

(c) Weather information 

(d) Rights of the girl child 

7. Which are the two essential elements of 
assessment ? 

(a) Monitoring and Evaluation 

(b) Financial and Social stability 

(c) Efficiency and Effectiveness 

(d) Durability 

8. Which among the following is not one of the 
4 P's of marketing ? 
(a) Price 
(b) Printer 
(c) Place 
(d) Product 

9. Which among the following is not a part of Core 
Services ? 
(a) e-Governance 
(b) e-Commerce 
(c) Education 
(d) Health 

10. Monitoring is keeping an eye on something. 

(a) True 

(b) False 
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SECTION B 

(SHORT ANSWER) 	 5x6=30 

(i) Attempt any five questions choosing at least 
two questions from Part I and Part II. 

(ii) Each question carries 6 marks. 

PART I 

11. What do you mean by Computer maintenance ? 
Briefly describe any two software related 
maintenance. 

12. List any four trouble-shooting solutions for 
improving your computer performance. 

13. Write a short note on telecentre based financial 
services. 

14. Which are the telecentre user groups in your 
locality ? 
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PART II 

15. What do you mean by 'Packaging the 
Information' ? What do we need to know while 
packaging the information ? 

16. What do you mean by Social Marketing ? 

17. What is the role of Monitoring and Evaluation in 
telecentre management ? 

18. What are the roles of the telecentre manager in 
information management ? 
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SECTION C 

(ESSAYS) 

Answer both questions from this section. Each 
question carries 25 marks. 	 2x25=50 

19. Describe how you would organize a telecentre in 
your locality so that it will attract more women 
participation. 

OR 

List down some of the core-services that a 
telecentre can deliver for community 
development. 

20. What are the factors influencing the Rural 
Consumer Behaviour ? Explain with examples. 

OR 

Discuss in detail with examples different 
information dissemination techniques. 
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